
ROLL UP:  SF PRESENCE (to EO Rank)
4) Calculation of  “EO Presence” (or “Initial EO Rank”) based on SF Presence 
values:
Examples:

SF1 E - - - - -

SF2 U U - - - U

SF3 F F F - - -

SF4 H H H H H -

SF5 X X X X H? X

INITIAL 
EO 
RANK 
ROLLUP

E U or F F H H or H? U or X

Rules:
1) If all SF = all same rank, then EOP is that rank.
2) General hierarchy of E, then F, then H, then X is agreed on by Project Team. For example, 

if any SF is E, then Initial EO Rank/EO Presence (EOP) is E; if all ranks are F, H and X, EOP 
is F.

! Disagreement over how U should be used; some say if there is any other rank, don’t use it,; some put it 
between E and F in the hierarchy
! Disagreement if H should be selected before or after H?




